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17. Susie Sweetness baked 16 Super Sugar Cupcakes on her
16" birthday. She gave one to each of her 5 pet armadillos.
How many Super Sugar Cupcakes did she have left?

Sy e T o LT
i

?

16 -5 =
Susie had Super Sugar Cupcakes left.

.-SCHOLASTIC ooooooooooooo : Bar Model Math (Grade 3 ) © Scholast icInc.



18. Priscilla Penguin has 14 black shoes. She has 6 white shoes.
How many more black shoes are there than white shoes?

B. R, pib, R, R, R, R, D, R, R, R, D, . D D% 14

W DR D% % % & R 6

—

?

14-6 =

Priscilla has more black shoes than white shoes.
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18. Priscilla Penguin has 14 black shoes. She has 6 white shoes.
How many more black shoes are there than white shoes?

B.

W.

P b b o

bl

14-6 =

Priscilla has

MSCHOLASTIC

14

more black shoes than white shoes.
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19. Ranger Ralp
Trail. He hao

n went hiking on the 29-mile-long Sticker Bush
20 bandages in his pack. Along the way he

used 13 of t

20-13 =

nem. How many bandages did he have left?

He had

bandages left.
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20. Tyranno had a dozen books.
8 of the books were about pudding.
The rest were about dinosaurs.
How many books were about dinosaurs?

12 -8 =

There were books about dinosaurs.
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